< ANTARES

INTOEMNATIONAL

Instrukce k montazi AR 12
Assemblyinstructions AR 12
ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG
1580, 1850, 1380,1840, 1790, 1750

IxL

1xR

Instrukce k montazi AR 12
Assemblyinstructions AR 12

ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG
1930/SYN, 1710/SYN

1 | M6X35 6x
2 |25/10,5x7,5 4x
3 1X

IxL 1 M6X45 6x
+

2 |25/10,5x5 4x
1xR

3 1X

DOPORUCUJEME KAZDE 3 MESICE PREKONTROLOVAT DOTAZEN{ SROUBU
WE RECOMMEND TO CHECK TIGHTENING OF SCREWS EVERY 3 MONTHS



< ANTARES

INTOEMNATIONAL

Instrukce k montazi AR 12

Assembly instructions AR 12
ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

1740, 1870

1xL

1xR

Instrukce k montazi AR 12

Assembly instructions AR 12
ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

1080, 1040, Panther

1 | M6X30 4x
2 | M6X35 2x
1X

IxL 1 | M6X25 2x
+ |
2 |M6X30 ax
1xR ﬁ
1X

DOPORUCUJEME KAZDE 3 MESICE PREKONTROLOVAT DOTAZEN{ SROUBU
WE RECOMMEND TO CHECK TIGHTENING OF SCREWS EVERY 3 MONTHS




S

ANTARES

INTOEMNATIONAL

Instrukce k montazi AR 12
Assembly instructions AR 12

ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

1540

1xL

1xR

Instrukce k montazi AR 12
Assembly instructions AR 12
ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

——eee

1640
M6X25 2x IxL 1 | M6X30 ax
q . q
M6X35 ax 2 |M6X35 2x
q 1xR q
25/10,5%5 4x 3 | 25/10,5x10 2X

—— e

DOPORUCUJEME KAZDE 3 MESICE PREKONTROLOVAT DOTAZEN{ SROUBU
WE RECOMMEND TO CHECK TIGHTENING OF SCREWS EVERY 3 MONTHS




< ANTARES

INTOEMNATIONAL

Instrukce k montazi AR 12
Assembly instructions AR 12

ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

Instrukce k montazi AR 12
Assembly instructions AR 12

ISTRUCTIONS DE MONTAGE — MONTAGEANLEITUNG

1990 (MODEL 2020)
1xL M6X40 6X
+
25/10,5x5 4x
1xR
1X

1980
1xL M6X30 4x
+ l
M6x35 2X
1xR
1x

DOPORUCUJEME KAZDE 3 MESICE PREKONTROLOVAT DOTAZEN{ SROUBU
WE RECOMMEND TO CHECK TIGHTENING OF SCREWS EVERY 3 MONTHS



ludekbrucek
Čára

ludekbrucek
Čára




